## **Juvinall Laundry Room**

jeremyj.johnson@live.com

Item Name		Line Price	Qty	Line Total
	SB30B - Trenton Recessed - Sink Base - Butt Doors Default Title	\$337.12	1	\$337.12
	<ul> <li>Would you like the cabinet assembled? : No - I want it ready to assemble</li> </ul>			
	SKU: KTR-SB30B			
	TUK - Trenton Recessed - Touch Up Kit Default Title	\$28.00	1	\$28.00
	SKU: KTR-TUK			
ж	ICM8 - Trenton Recessed - Inside Corner Molding Default Title	\$40.32	3	\$120.96
	SKU: KTR-ICM8			
ec	TK8 - Trenton Recessed - 8' Toe Kick Default Title	\$32.48	2	\$64.96
ur.	SKU: KTR-TK8			
a a	WF342 - Trenton Recessed - 3" x 42" Filler Default Title	\$34.16	2	\$68.32
Å.	SKU: KTR-WF342			
307	WF330 - Trenton Recessed - 3" x 30" Filler Default Title	\$24.64	2	\$49.28
V <sub>s</sub>	SKU: KTR-WF330			

em Name		Line Price	Qty	Line Total
Se No.	TF696 - Trenton Recessed - 6" x 96" Tall Filler Default Title	\$170.24	1	\$170.24
	SKU: KTR-TF696			
ov ov	TF396 - Trenton Recessed - 3" x 96" filler Default Title	\$70.00	1	\$70.00
	SKU: KTR-TF396			
	WP2496BSCRT - Trenton Recessed - Pantry cabinetw/4 soft close roll out trays Default Title	\$1,172.64	1	\$1,172.64
	<ul> <li>Would you like the cabinet assembled? : No - I want it ready to assemble</li> </ul>			
	SKU: KTR-WP2496BSCRT			
	W1842 - Trenton Recessed - Wall Cabinet - Single Door Default Title	\$249.76	1	\$249.76
	<ul> <li>Would you like the cabinet assembled? If yes, what side do you want the hinges on? (Right Side Shown): No - I want it ready to assemble</li> </ul>			
	SKU: KTR-W1842			
	W4230 - Trenton Recessed - Wall Cabinet - Double Doors Default Title	\$408.80	2	\$817.60
	<ul> <li>Would you like the cabinet assembled? : No - I want it ready to assemble</li> </ul>			
	SKU: KTR-W4230			
	W3030B - Trenton Recessed - Wall Cabinet - Butt Doors Default Title	\$299.60	1	\$299.60
1	Would you like the cabinet			

Item Name		Line Price	Qty	Line Total
	assembled? : No - I want it ready to assemble			
	SKU: KTR-W3030B			
	W2742B - Trenton Recessed - Wall Cabinet - Butt Doors Default Title	\$360.64	1	\$360.64
	<ul> <li>Would you like the cabinet assembled? : No - I want it ready to assemble</li> </ul>			
	SKU: KTR-W2742B			
	W2142 - Trenton Recessed - Wall Cabinet - Single Door Default Title	\$282.80	1	\$282.80
	<ul> <li>Would you like the cabinet assembled? If yes, what side do you want the hinges on? (Right Side Shown): No - I want it ready to assemble</li> </ul>			
	SKU: KTR-W2142			
	W1542 - Trenton Recessed - Wall Cabinet - Single Door Default Title	\$221.20	1	\$221.20
	<ul> <li>Would you like the cabinet assembled? If yes, what side do you want the hinges on? (Right Side Shown): No - I want it ready to assemble</li> </ul>			
	SKU: KTR-W1542			
	B27BSCRT - Trenton Recessed - Base w/2 soft-close roll-outs - Butt Doors Default Title	\$577.92	1	\$577.92
	<ul> <li>Would you like the cabinet assembled? : No - I want it ready to assemble</li> </ul>			
	SKU: KTR-B27BSCRT			
	B18SFTTR - Trenton Recessed -	\$854.56	1	\$854.56

Item Name **Line Price** Qty Line Total Base Cabinet/ Soft-close Trash Pull - Single Door/Drawer Default Title • Would you like the cabinet assembled? : No SKU: KTR-B18SFTTR B15SFTTR-DMK - Trenton \$775.04 \$775.04 1 Recessed - 15"Base w/softclose trash unit **Default Title** • Would you like the cabinet assembled? : No SKU: KTR-B15SFTTR-DMK

**Subtotal** \$6,520.64